Chapter 1
Measurement

*4  Spacing in this book was generally done in units of points and
picas: 12 points = 1 pica, and 6 picas = 1 inch. If a figure was mis-
placed in the page proofs by (.80 cm, what was the misplacement
in (a) picas and (b) points?

*»9 Antarctica is roughly semicir-

cular, with a radius of 2000 km

(Fig. 1-5). The average thickness of

its ice cover is 3000 m. How many K3 V{]ﬂﬂhn
cubic centimeters of ice does 5000m |
Antarctica contain? (Ignore the cur- T

vature of Earth.) Fig. 1-5 Problem9Y.

*10 Until 1883, every city and town in the United States kept its
own local time. Today, travelers reset their watches only when the
time change equals 1.0 h. How far, on the average, must you travel
in degrees of longitude between the time-zone boundaries at
which your watch must be reset by 1.0 h? (Hint: Earth rotates 360°
in about 24 h.)

*14 A lecture period (50 min) is close to 1 microcentury. (a) How
long is a microcentury in minutes? (b) Using

) actual — approximation
percentage difference = ( PP ) 100,
= actual

find the percentage difference from the approximation.

21 Earth has a mass of 5.98 X 10> kg. The average mass of the

atoms that make up Earth is 40 u. How many atoms are there in
Earth?

*22 Gold, which has a density of 19.32 g/cm?, is the most ductile
metal and can be pressed into a thin leaf or drawn out into a long
fiber. (a) If a sample of gold, with a mass of 27.63 g, 1s pressed into a
leaf of 1.000 pum thickness, what is the area of the leaf? (b) If,
instead, the gold is drawn out into a cylindrical fiber of radius 2.500
pm, what is the length of the fiber?



